[Effici

ency vs vertpos |

0.2

0.18F
0.16F
0.14F
0.12F

0.1k
0.08F

0.06
0.04
0.02

T LR T
J
)
-
g

0.95

0.2

1072 107 1 10 10?

Taata Ilb'é;izflll FSON-bRwo=fwdfmo-rmodifrCMSSW—13—0—X_
|€f

DOM_m
tici BeM-m
Efficienq —— BMm

023-01-24=1100/STTIDQM TTigiTat

0.18
0.16
0.14
0.12

0.1

0.08
0.06)
0.04
0.02

Vel

AT
£
3

TTT
F—s—

[y

0.95!

oY)
o

-20 -10 0 10 20 30

[Effici

ency vs.sim PV z |

0.2

0.18

0.16F
0.14F
0.12F

0.1F
0.08E
0.06f-

0.04F
0.02

0

FRVS)

¥ =15 -10 -5 0 5 10 15 20




	Contents
	Page 1


